Visby BS
Parspel 5 2022-09-23

Partavling, 9 bord, 17 par. Antal brickor: 20. Medel: 139.8. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 5 193.7 69.18 Irene Darvelid - Bo Darvelid 5155 11382  Visby BS
2 11 175.2 62.56 Sylve Ekstrom - Anita Johansson 64828 200862 Visby BS
3 2 162.4 57.99 Lars-Erik Lindberg - GOsta Eriksson 5162 5185  Visby BS
4 15 161.3 57.62 Frank Caperius - Rolf Bjorn 15076 12572  Visby BS
5 14 1514 54.09 AnnaRoll- CurtRoll 59261 59260 Visby BS
6 9 143.0 51.07 Ewa Montelius - Berit Sundquist 44768 86021  Visby BS
7 10 141.3 50.47 Jan Nothwarp - Torgny Nilsson 14317 84569  Visby BS - Horsne BK
8 17 1346 48.06 Maiegun Pettersson - Runar Edholm 53975 49441  Visby BS
9 7 132.9 47.46 Louise Rosencrantz-Larsson - Birthe Sorestedt 39055 30498 BK S:t Erik - Visby BS
10 6 128.7 45.97 EvaJan - Dagmar Pettersson 18438 36276  Klintehamns BK - Visby BS
11 13 128.7 45.96 Birgitta Gustafsson - Hasse Tagt 92160 87384  Vishy BS
12 4 128.5 4590 Solgerd Gotvik - Monika Stahl 62879 35868  Visby BS
13 16 126.6 45.20 Per Fogelstrdm - Anette Fogelstrom 200859 200858 Visby BS
14 1 123.4  44.09 Marianne Sjogren - Gunn Fagerlund 81986 36213  Visbhy BS
15 12 118.1 42.18 Roger Wessberg - Christer Nordin 65819 41391  Visby BS
16 3 117.1  41.80 Anders Kraft - Eva Kraft 18278 51349  Horsne BK - Klintehamns BK
17 8 109.5 39.12 Bertil Gabrielsson - Elisabeth Pettersson 63252 200726 Visby BS
1  EKD1054 Basta kontrakt 2 48 Basta kontrakt 3 & K87 Basta kontrakt
Nord vE763 44 ND-1-100 Ost vE 74 OD-51100 |Syd v 108432 2v S =110
Ingen +5 NS + EKD98632 ov +5
«D5 & ¢ v & NT #EK10 & ¢ v & NT #D832 & ¢ v & NT
49763 .- N23797 4 EDKN73 4954 N5 129 7 11 4E1095 442 N65877
vKKn108 vD9 S23787 v Kn5 vD1097 S 5 129 7 11 v KKn7 v95 S65877
©732 ¢ KDKn108 O 10106 4 5 ¢+ Kn 75 080451 +93 ¢Kn108742 O 6 8 5 6 6
#109 #EKKn873 V 10106 4 5 #D9872  #Kn643 V80451 #KKn106 #E54 V68566
4 Kn82 & K1062 « DKn63
v542 v K86432 vED6
+ E964 + 104 + EKD6
*642 &5 *97
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
7 13 34 N= *A 140 140 00| 5 9 64 S= aA 1370 140 00|17 16 34 V-3 v2 300 140 0.0
5 9 5¢eDV-1 4A 100 120 20| 1 10 5¢ N+1 9 620 9.0 50|13 3 24 S+1 &T 140 120 20
4 16 34 N-1 #A -50 100 40| 6 11 5¢ N+1 9 620 90 50| 2 11 2vS= aT 110 10.0 4.0
8 15 44 O +1 & -150 80 6.0| 8 15 5¢ N+1 49 620 90 50| 1 9 INS= *6 90 80 6.0
1 10 44DN-2 ¢K -300 6.0 80|14 3 5¢ N+1 49 620 90 50| 6 10 14S-1 +9 -50 4.0 10.0
14 3 5¢ V= oA -400 40 100| 4 16 5¢ N= a4 600 20 12.0| 7 12 2vS-1 &T -50 4.0 10.0
6 11 54DO= &J -550 1.0 13.0| 7 13 5¢ N= a4 600 20 120|15 4 2NS-1 &T -50 4.0 10.0
12 2 54DO= v2 -550 1.0 13.0{12 2 5¢ N= a4 600 20 12.0| 8 14 4NS-2 *6 -100 0.0 14.0
- 17 6.0| - 17 6.0 - 5 10.8
4 4 Kn102 Basta kontrakt 5 4 D9642 Basta kontrakt 6 » E862 Basta kontrakt
Vast v K8752 4¢ V =-130 Nord vKn3 6NT O =-990 Ost v 986532 5v S =450
Alla +D NS + D942 ov + 106
#DKn65 & ¢ v & NT *73 & ¢ v & NT *7 & ¢ v & NT
4 D853 a K4 N6 3655 4E1073 4Kn N23151 4D1093 4Kn754 N8 9 118 8
vKn1094 vE S6 3655 v 852 vEK10976 S 2 3 151 v1074  vDKn S 8 10118 8
4943 ¢E108762 O 7 106 7 6 ¢+ EK3 4875 O 1010128 12 ¢+ Kn2 ¢ K753 053255
*K9 #E1083 V 7 106 7 6 K109 #EKn4 V 1010128 12 #DKn84 #E65 V43255
«E976 » K85 oK
v D63 vD4 vEK
¢ KKn5 + Kn106 + ED984
*742 #D8652 #K10932
Par  Kontr ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 10 5¢ V-1 *Q 100 13.0 10| 5 17 3NV +2 a2 -460 130 10| 5 17 44DO-5 vA 1400 140 0.0
7 12 3NQO-1 46 100 13.0 10|14 4 3NV+2 a2 -460 130 10| 2 10 3NS= +J 400 120 20
2 11 2¢ O+1 &A -110 9.0 50| 2 10 4v O+2 #J -480 6.0 80| 8 13 24 V-3 *T 300 10.0 4.0
13 3 20 O+1 v3 -110 90 50| 3 12 5vO0+1 ¢J -480 6.0 80|14 4 3v N+l 44 170 8.0 6.0
1 9 1¢ O+3 46 -130 3.0 110 7 11 4v O+2 &2 -480 6.0 80| 7 11 4¢ S= 43 130 50 9.0
8 14 2¢ O+2 &A -130 3.0 11.0| 8 13 4v O+2 &8 -480 6.0 80| 9 6 2¢ S+2 43 130 50 9.0
15 4 20 O+2 &7 -130 3.0 110 9 6 4v O+2 &6 -480 6.0 80|16 15 1#S+2 ¢J 110 20 12.0
17 16 4¢ O= v3 -130 3.0 11.0(16 15 4y O+3 &2 -510 0.0 140| 3 12 3NS-2 43 -100 0.0 14.0
- 5 108 1 - 5.4 1 - 5.4
7 432 Basta kontrakt 8 4832 Basta kontrakt 9 4 E87 Basta kontrakt
Syd v E987 64 V =-1430 Vast vE10642 4¢ V =-130 Nord vE10 2NT N =120
Alla 443 Ingen +73 ov + EDKn108
#KKn1072 & ¢ v & NT #1076 & ¢ v & NT #K83 & ¢ v & NT
4 E874 4 KKn965 N6 3313 4K1075 4Kn94 N7 27 44 4 K94 4« DKn106 N6 97 6 8
vKn3  vK1062 S6 3313 v K87 vKn3 S73856 vKn972 D85 S6 976 8
¢E109 ¢ DKn72 O 7 109 1210 ¢ EDKn65 ¢ 10942 O 6 105 8 7 ¢+ K9 465 06 4665
#ED83 &- vV 7 109 1210 D #E932 V 6 105 8 7 D952 #E1076 V746¢675
+D10 «ED6 4532
v D54 v D95 v K643
+ K865 + K8 ¢ 7432
#9654 #KKn854 *Kn4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 7 44 0= *4 -620 140 00| 8 12 5¢ V-3 vA 150 140 0014 13 INN+1 «Q 120 140 0.0
1 17 44 V+1 &7 -650 80 6010 7 3#S-1 ¢ A -50 12.0 20| 3 10 1¢ N+2 «Q 110 9.0 5.0
2 9 44 0+1 94 -650 80 60| 2 9 3¢V= &T -110 9.0 50| 4 12 1¢ N+2 «Q 110 9.0 5.0
4 13 44 O+1 ¢6 -650 80 6.0|15 14 3¢ V= &T -110 90 50|11 8 1¢ N+2 4Q 110 9.0 5.0
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8 12 44 V+1l ¢4 -650 80 6.0 3 11 2¢ V+2 vA -130 50 9.0(15 5 1¢ N+2 &Q 110 9.0 5.0
15 14 44 V+1 T -650 80 60| 4 13 3¢ V+1 &6 -130 50 9.0 7 9 1l¢ N+1 4Q 90 3.0 11.0
3 11 4e V+2 ¢4 -680 10 13.0{16 5 3¢ V+2 ©vA -150 20 12017 6 INN= 4Q 90 3.0 110
16 5 44 V+2 ¢4 -680 10 13.0| 1 17 24 V+2 ©vA -170 0.0 140(| 1 16 24 O= a3 -110 0.0 14.0
6 - 6.2 6 - 6.2 2 - 8.9
10 4ED Basta kontrakt 11 4952 Basta kontrakt 12 48 Basta kontrakt
Ost v ED94 6NT S = 1440 Syd v E52 4¢ SD-1-100 Vast v KKn86 3¢ VD-1100
Alla + 1065 Ingen + Kn985 NS + E63
#ED106 & ¢ v & NT 983 & ¢ v & NT #EKD32 & ¢ v & NT
4 K10764 49852 N 1212129 12 41087 D643 N8 9 456 2 E1062 4 KDKn N9 586 6
v 762 v 853 S 1212129 12 vKD108 v Kn9643 S 89456 v 1097 v D53 S 9586 6
¢ KKn 4432 0111141 +D1074 - 054985 + KKn985 ¢ D104 O48466
#Kn95 #743 v1ii141 *E2 #KKn54 V54975 +10 *#Kn764 V48466
& Kn3 & EKKn 497543
v KKn10 v7 vE42
+ ED987 + EK632 *72
*K82 +D1076 #985
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 9 3NS+3 a7 690 120 20| 1 15 1e¢ S+2 #A 110 11.0 3.0| 5 14 2NN+l &6 150 140 0.0
11 8 3NN+3 42 690 120 20| 2 17 2¢ S+1 &A 110 11.0 30(16 6 1#N+3 &K 130 120 2.0
15 5 3NS+3 #4 690 120 20| 5 14 1¢ S+2 &A 110 11.0 30| 2 17 1 N+2 ¢4 110 70 7.0
1 16 4vy N+2 &3 680 6.0 80|13 12 1l¢ S+2 vK 110 11.0 30| 3 9 1v N+1 &K 110 70 7.0
4 12 49y N+2 45 680 6.0 80|16 6 1l¢ S+1 ¢K 90 6.0 80| 4 11 3&aN= s K 110 70 7.0
17 6 4vy N+2 49 680 60 80| 3 9 3¢S-1 *A -50 40 100(13 12 14 N+2 &K 110 70 7.0
14 13 3NN+2 45 660 20 120| 4 11 2vV+1l ¢5 -140 10 13.0| 1 15 INN= *6 90 2.0 120
3 10 6y N-1 48 -100 0.0 140| 8 10 3v O= ¢ A -140 10 13.0| 8 10 3¢ V-1 A 50 0.0 14.0
2 - 8.9 -7 63| - 7 6.3
13 a5 Basta kontrakt 14 4 Kn954 Basta kontrakt 15 4 K106 Basta kontrakt
Nord vED75 3NT N =600 Ost v5 2NT S =120 Syd v K52 44 S =620
Alla + 102 Ingen + DKn65 NS + KKn5
#EKD543 & ¢ v & NT #EKN93 & ¢ v & NT #ED52 & ¢ v & NT
4« KD10864 #Kn3 N9 108 5 9 + 1062 « D873 N7 86 77 & Kn7 4943 N6 9 7 108
vK4 vKnl10632 S 9 108 5 9 vE10876 vKn9 S786 78 vEDKn93 v104 S6 9 7 108
¢ E65 ¢+ K4 043574 ¢ EK72 ¢43 06 4765 ¢ E32 + D64 O6 3634
#96 #10872 V43574 »8 #D10542 V64765 K98 #Kn7643 V6 3634
4 E972 s EK & ED852
v 98 v KD432 v 876
+ DKn9873 41098 410987
*Kn *K76 «10
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 16 3« N+1 4] 130 13.0 10| 5 13 INS+2 +¢K 150 13.0 10| 5 12 24 N+2 »T 170 140 0.0
5 13 44 N= v2 130 13.0 10| 9 8 INS+2 +A 150 13.0 10| 3 17 24 S+1 vA 140 11.0 3.0
9 8 3&N-= ] 110 80 60| 2 16 INN+1 &2 120 90 50|15 2 24 N+1 *T 140 11.0 3.0
14 1 3#N= 3 110 80 6.0(17 7 INN+1 &2 120 9.0 50| 7 16 24 S= v3 110 80 6.0
17 7 3¢ S= *9 110 80 60| 4 10 INS= 2 90 6.0 80| 4 9 2vV-1 *2 50 6.0 8.0
4 10 3NS-1 oK -100 4.0 100| 6 15 INS-1 +K -50 30 11.0| 6 14 INV= *2 -90 4.0 10.0
6 15 5& N-2 ] -200 10 13.0|12 11 2v S-1 8 -50 3.0 11.0(11 10 3NN-1 vT -100 2.0 12.0
12 11 2v N-2 ] -200 10 13.0|14 1 3NS-3 ¢ A -150 0.0 140( 1 13 INDV= &2 -180 0.0 14.0
3 - 6.2 3 - 6.2 - 8 5.2
16 41072 Basta kontrakt 17 4 EKn Basta kontrakt 18 4 E1042 Basta kontrakt
Vast v54 5¢ O =-650 Nord v Kn5 44 O =-420 Ost v KKn9532 4v S =620
oV 498753 Ingen 410643 NS + 104
*642 & ¢ v & NT #E10986 & ¢ v & NT »5 & ¢ v & NT
4 Kn983 4 E54 N25233 4964 4 D8753 N7 3233 4 Kn765 4 KD9 N 7 5 106 8
v ED6 vKKn1098 S 2 5 2 3 3 v EK8743 v1092 S73233 v74 vD6 S 7 6 107 8
¢DKn4 ¢10 O 117 119 10 ¢+ KKn87 ¢ ED O5 8 10108 ¢ KKn53 ¢ 8762 O6 7365
#ED9  #KKn108 vV 117 109 10 »- #DKn7 vV 5 8 10108 #E106 #K873 V673675
&« KD6 & K102 483
v732 v D6 vE108
+ EK62 4952 + ED9
#753 #K5432 #DKn942
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 17 4v O= ¢ A -620 13.0 1.0| 5 11 3v V-1 s A 50 13.0 10| 2 14 4vy N+1 &K 650 140 0.0
11 10 4v V= +3 -620 13.0 1.0|12 1 44 O-1 &2 50 13.0 10| 5 11 4vy N= &7 620 11.0 3.0
7 16 3NV+1l ¢8 -630 100 4.0| 8 17 3v V= aA -140 100 4.0| 6 13 4v N= +6 620 11.0 3.0
15 2 49 O+1 K -650 80 60| 2 14 4v V= s A -420 50 9.0|10 9 2vS+3 3 200 80 6.0
1 13 3NV+2 7 -660 3.0 11.0| 6 13 44 O= &K -420 50 9.0| 7 15 2¢vy N+2 &7 170 6.0 8.0
4 9 3NV+2 3 -660 3.0 11.0({10 9 4v V= A -420 50 9.0|12 1 INS+2 3 150 4.0 10.0
5 12 3NV+2 ¢9 -660 3.0 11.0(16 3 4v V= s A -420 50 9.0| 8 17 Pass 2.0 120
6 14 3NV+2 ¢9 -660 3.0 110 7 15 4v V+1l #A -450 00 140(16 3 4vy N-1 49 -100 0.0 14.0
- 8 52| 4 - 6.1 4 - 6.1
19 4E3 Basta kontrakt 20 4642 Basta kontrakt
Syd vED3 34 V =-140 Vast vE62 3NT S =600
(6)) + K1075 Alla + E98
#Kn432 & ¢ v & NT »EK86 & ¢ v & NT
4 KD1098 #Kn7 N26 8 36 # EK5 4« Kn1073 N8 89 7 8
v72 v 1064 S26826 v 103 vDKn74 S989809
¢+ Kn ¢ ED432 0107 5 9 7 ¢+ D1054 ¢632 045 45 4
#KD965 #E107 vV 107 5 9 7 &#Kn432 #97 V 45454
46542 « D98
v KKn985 v K985
4986 ¢ KKn7
»8 #D105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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3 V-2 vA 200 13.0 10| 5 10 3¢DO-3 +8 800 14.0
3N O -2 v8 200 130 10|17 4 3NS= +5 600 12.0
2NN -2 ] -100 10.0 4.0| 8 16 2v S+1 5 140 9.0
264 V= *7 -110 80 6.0(11 1 1v S+2 &A 140 9.0
34 V= 7 -140 6.0 80| 3 15 3NN-1 v7 -100 5.0
34 V+1  ¢7 -170 40 100( 7 14 4v S-1 aA -100 5.0
4a V = »2 -620 20 120| 6 12 3NN-2 a3 -200 1.0
BNV+1  ¢5 -630 0.0 14013 2 3NN-2 vQ -200 1.0

7.0 9 - 7.0
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